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BCQ/A-15 21 1 31
COST ACCOUNTING
Paper-11
: Pvt/Reappear : 90
Time : Three Hours] [Max. Marks : 1 p c.c:100

Note : Attempt five questions in all, selecting at least one question
but not more than two from each unit. All questions carry
equal marks.

AT Wmﬁ@wﬁm@aﬁtma‘rw
ﬁ@,aﬁuﬁqﬁﬁmﬁrﬁr‘zmﬁw%m
oA B '

UNIT-I (§&E-1)

1. What is Cost Accounting 9 Explain its objectives and
advantages. 18(20)
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2. What are the objectives of Material Control ? State briefly the
various methods of Pricing the issue of materials. Also discuss

the merits and demerits and suitability of each method.
18(20)
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3.

A worker under the Halsey-Weir method of remuneration has
a day rate of ¥ 120 per week of 48 hours plus a cost living
bonus of T 1 per hour worked. He is given an 8 hours task to
perform, which he accomplishes in 6 hours. He is allowed
30% of the time saved as premium bonus. What would be his
total hourly rate of earnings, and what difference would it
make if he was paid under the Rowan method ? 18(20)

s # teQ-deR Sk ® o< Tk AfR
s < W 48 TUA H TWE H T 120 TRAHE T 7
@ e W wE AT S w1 X 1 She frafe
ey 21 R 8 U w1 FH wW @ fg fraw wn @

fR 9% 6 YU § YU L o 21 IH TG Y THA K 30%

et & &9 § foorn 21 STUH! FHE F FH T0A T HA
Srft den T SRR TR AR UaT TSR F STE ST
ﬂﬂaqﬁ..v_

UNIT-II ( Fehtg-11 )

Explain Absorption and Allocation of overheads. What are
the main methods ? Explain Machine Hour rate method.
18(20)
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The particulars for the production of 2000 sewing machines

of Sadhna Bngineering Co. Ltd. for the year 2014 are given
below : 18(20)
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Cost of Material (TTFfl 1 TT) 16,000
Wages (TTREHH) _ 2,40,000
Manufacturing mxwaum.mm (frufor =) 1,00,000
Depreciation (aT™) F 1,20,000
Rent, Rates and Insurance (foramn, & @ M) 20,000
Selling Expenses (fasmt =9) 60,000
General Expenses (HHA ) : 40,000
Sales (farsY) ‘ 8,00,000

The Company plans to manufacture 3000 Sewing Machines
during 2015. You are required to submit a statement showing

 the price at which machines would be sold as to show a profit

of 10% on the selling price. The following additional

information is supplied to you :

(a) Price of material is expected to rise by 20%.

(b) Wage rates are expected to show an increase of 5%.

(c) Manufacturing expenses will rise in proportion to the
combined cost of materials and wages.

(d) Selling expenses per unit will remain the same.

(e) Other expenses will remain unaffected by the rise in
output.
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The following particulars relate to a Contract undertaken by a
firm of engineers : 18(20)

T=ifd w T w4 gR fau U T o9 @ weiem
foreor frefafea

) 4
, Materials sent to Site 85,349

(W R gl 9§ TR)
Labour engaged on Site . 74,375
(T R gfaF @Y M)
Plant installed at Cost 15,000
(WA= M A e nd
Direct Expenses 3,169
(Fay =9)
Establishment Charges : : 4,126
(@A =) ‘ ‘
Materials returned to Store 549
(R #t grplt a9" & i)
Work certified 1,95,000
(™ yAifoTa g31)
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Cost of work not certified 4,500
(Stymiford & T ANT)

Materials in Hand on 31st December : 1,883,
(arft T ¥ 31 fgwmw @)

Wages accrued due on 31st December 2,400

(aftsfier s 31 R =)

Direct expediture accrued due

on 31st December : 240
(yas =g S 31 g &)
Value of plant on 31st December . 11,000

(= F Hed 31 fRaeEr @ i)

The Contract Price has been agreed at T 2,50,000. Cash
received from the Contractee was I 1,80,000

3% 5T T 250,000 e ¥l SHEW ¥ W THR TS

T 180000 et

You are required to prepare Contract Account, to show suitable
entries in the Balance-sheet of the Contractors.

%%m@wmﬂwﬁﬁﬂﬁw&ﬂﬂw@ﬂ%m

- IugE wfafedr fanu

UNIT-III ( Sehtg-111)

Define Standard Costing, and discuss its advantages and
disadvantages. 18(20)
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The Modern Machine Co. Ltd. places vmmoao you the following
figures : ! 18(20)
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Sales Profit

(fasa) (&)
2013 2,00,000 10,000
2014 1,80,000 2,000

You are required to
(1) Determine P/V Ratio,
(2) Determine Sales at Break Even Point, and
- (3) Predict the expected Profit or Loss with sales of
(a) ¥ 1,50,000,
(b) < 3,00,000.
AT H T FET B
(1) TF-HE STIIE J0 HT,
(2) wHfa=sg fag W faswt I wifSw, qen
(3) f= fomt | s e qE-gfea wif:
(%)% 150,000,
(@) T 3,00 000.
Write short notes on the following : 18(20)
(i) Abnormal Wastage.
(3 M &)
(ii) Abnormal Effectivenss.
(STEHT =)
(iii) Inter-Process Profit.
(ST=-TfhAT 4)
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10. From the informations given below

(1) Determine the Profit as it would be shown by Cost
Accounts, and

(2) Prepare a statement reconciling with the Profit as shown

by Financial accounts.
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Trading and Profit or Loss Account
(At TE eH-gie @)

For the year ended on 31st December, 2014.

18(20)

- z
Material consumed 1,00,000 | Sales (1,00,000 2,00,000
(wrlt geRT) units)
Direct Wages - 50,000 | (fsrsht— 1,00,000
(T8 HAEH) TTEAn)
Works Overhead 30,000
(FREM 39RET)
Office Expenses 9,000
(FHTE =) :
Selling and .
Distribution Cost 6,000
(fosra wa faeror @)
Net Profit 5,000
(Y& %)
2,00,000 2,00,000
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“The Normal output of the factory is 1,50,000 units. Works
overhead of a fixed nature is T 18,000, office expenses for all
practical purposes are constant. Selling and distribution costs
are constant to the extent of ¥ 3,000 and balance varies directly

‘with sales. '
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